
cf=j= @)*)÷)*! df bfdf{ ufpFkflnsfdf sfof{Gjog x'g] cfof]hgfx? 

qm=;= cfof]hgfsf] gfd 7]ufgf cfof]hgfsf] nfut 

/sd ?= 

sfof{Gjog ljlw s}lkmot 

1 bfdf{vf]nf t6aGwg 

cfof]hgf 

j8f g+ # %(,#&,*@!÷$& pkef]Qmf ;ldlt  

2 em\of/Ljfª l;+rfOs'nf] 

cfof]hgf 

j8f g+=@ @$,@$,^!&÷^# pkef]Qmf ;ldlt  

3 nfdLb'jfnL vl/sfkfvf 

l;+rfO cfof]hgf 

j8f g+= ^ @^,@&,)&(=@% pkef]Qmf ;ldlt  

4 tfpn]/x k;]nf l;+rfOs'nf] 

cfof]hgf 

j8f g+ % %(,$#,)*#÷** pkef]Qmf ;ldlt  

5 kmf?nf ahf/ lelq ;8s 

dd{t cfof]hgf 

j8f g+= # #@,*#,!&# 7]Ssf  

6 d}bfg–df}n]vfnL–l;ln+u] 

;8s :t/f]GgtL 

j8f g+= @ &$,!$,@@)=@% 7]Ssf  

7 ;'/vfnL /ltvf]nf s[lif ks]6 

If]q cfof]hgf 

j8f g+= $ !(,))))) pkef]Qmf ;ldlt  


